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Note: Attempt any 4 Questions.

Que.l
(A) Define second order derivative by giving example.
(B) Find % for the following functions

@O y= m—fﬁ (i) y 2x+§ (i) y = 7x* + 4x — e* — logx

Que.2
(A) Give rules of differentiation.
(B) Find maximum and minimum value of y=4x3+ 19x% — 14x + 3

Que.3
(A) Explain the meaning of permutation and combination.

(B) How many different words can be formed from the letters of the followmg words
() TEJAS  (ii)) HEXAGON

Que.d

(A) In how many ways a committee of four persons can be formed from 8§ boys and 4 girls in
which there are at most 2 girls. :

(B) Find the values of the following
@) 1P, x 7P, (i) TP, X 8Cy (i) —52—"_-

Que 5
(A) Obtain the equatlon of a line making x intercept a and y intercept b.

(B) Find the equation of a line passing through the intersection point of lines 7x +y = 11 and
3x + v = 1 and making x intercept 3.

Que.6
(A) Define slope and intercept of a line.

(B) Find the equation of a line passing through pomt (1,2) and perpendwular to the Jine
Sx+2y—1=10.
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Que.7 .
(A) Give uses of linear programming problem,
(B) Solve the following assignment problem to maximize the total profit.

(6)

(9)

Job
Person | I 111 v
A 2 3 4 5
B 5 6 7 8
C 6 7 8 9
D 9 8 7 6
Que.8
(A) Solve the following assignment problem so as to minimize the total cost. (6)
Job
Worker A B C D
P 10 26 19 12
Q 15 ' 27 8 13
R 40 22 16 14
S 17 23 22 9

(B) Solve the following linear programming problem by graphical method 9)
Min. Z = 5x + 7y

s.t. x,yz0,3x+8y$24,5c+y£4,5x+2y2 10
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Que.2
(A) [Qsctotoll a1l a0l (6)
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Que.3
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Que.4 .
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Que.5
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Que.6
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Que.7
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Que.8
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SIHELR A B C D
P 10 26 19 12
Q 15 27 8 13
R 40 2 16 14
S 17 23 2 9
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Min. Z = 5x + 7y

s.d. %y20,3x+8y <24,x+y < 45x + 2y =2 10
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